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TAFELS

GROTE GETALLEN

s i s [honders 00 amien |
1X1=1 1X2=2 1Xx3=3 1X4=4 1X5=5

2X1=2 2X2=4 2X3=6 2Xx4=8 2X5=10 duizend 1.000 3 nullen
3X1=3 3x2=6 3X3=9 3X4=12 3Xx5=15

4x1=4 4x2=8 4x3=12 4x4=16 4x5=20 tienduizend 10.000 4 nullen
5X1=5 5X2=10 5X3=15 5X4 =20 5X5=25

6x1=6 6x2=12 6x3=18 6X4=24 6 X5=30

7X1=7 7X2=14 7X3=21 7X4=28 7 X5=35 honderdduizend 100.000 5 nullen
8x1=8 8x2=16 8x3=24 8x4=32 8X5=40

9x1=9 9x2=18 [9x3=27 | 9x4=36 | 9x5=45 miljoen 1.000.000 6 nullen
10X1=10 |10Xx2=20 |10X3=30 [10X4=40 |10X5=50

tien miljoen 10.000.000 7 nullen

6 7 8 | 9 | w0

1X6=6 1x7=7 1x8=8 1xX9=9 1X10=10 honderd miljoen 100.000.000 8 nullen
2X6=12 2X7=14 2x8=16 2x9=18 2X10=20

3x6=18 3x7=21 3x8=24 3Xx9=27 3X10=30

4 X6 =24 4x7=28 4x8=32 4x9=36 | 4x10=40 miljard 1.000.000.000 9 nullen
5X6=30 5Xx7=35 5x8=40 5X9=45 5X10 =50

6x6=36 6X7=42 6x8=48 6X9=54 6 X10 = 60

7x6=42 | 7x7=49 | 7x8=56 | 7x9=63 | 7x10=70

8x6=48 | 8x7=56 8x8=64 | 8x9=72 8 x10 =80

9x6=56 9x7=63 9x8=72 9x9 =281 9X10=90

10x6=60 |[10x7=70 [10x8=80 |10Xx9=90 |10x10=100




